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First Semester 3 Year LL.B. Examination, June/July 2019
CONTRACT - | (2018 Batch)

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five Units. |
2. One essay type question and short note/problem "
is compulsory from each Unit. )

3. Figures to the right indicate marks. !

4. Answer should be written either in English or Kannada
completely.

Q. No. 1. (a)“All contracts are agreements, but all agreements are not
necessarily contracts”. Explain. Marks : 10
“DeR, FTIOINY  %BOTNI, S08 DY, WBOBNTO
Bo00oN3eB0TIeRY. . DWOAD.

OR/emme

“An agreement without consideration is void”. Explain with

exceptions, if any. Marks : 10
“ZIPONYE LT SRSEONTTT . [T, WTHTRLTT
OINBEODNR LTORD. '

———

(b) ‘A’ made a proposal to ‘B’ in June 2017. ‘B’ accepted it in
August 2018. Is it valid acceptance ? Marks : 6
‘0’ ) 2,08 BTSN, ‘WA we* 2017 3, TRBOTR.
‘0’ euRy wnat, 2018 Sotd 2 eB0RTYT. QT2 3,0WT T
Aﬁe%émmgdoioe ?

OR/ems»

‘A’ goes to a departmental store and picks an article with
price tag. When he goes to the counter to pay the price, the
shopkeeper refuses to sell the article. ‘A’ wants to sue
shopkeeper for breach of contract. Advise ‘A’. Marks : 6
‘05" 3 2,00 B[ROV FeRR Been IS ANOTRIT RoBeBRY
RTIY, wod:gaﬁm‘%sgﬁ. PR 8BRS BBoDTY E{olanlevs!
wacs@a-%h ney, ﬁwﬁﬁ (5, Fo0830° )0 ®ET BRCTON &
SoPrRoD BROFI & BRIVIY SN0 ATHFORTE. ‘@' D
| Soortod BRdES QT FTID QOO OPIMON 05 BRTWLD

: VORI, ‘AN BOT Ve&D.
. = P.T.O.
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Q. No. 2.

(a) Discuss the legal effects of minor's agreement.

OT,T  FFOD wTOTT  FoTRTZT TOTRTONGTY
WRIFAD,

OR/epw»

“An agreement in restraint of trade is void”. Explain with
exceptions, if any.

“Q)g (Clatan mgmdwﬁqi NWFORTOT W0 zuwwod@
IRT,WONTIZ T, facs’éa @ﬁmdﬁ'@a;d Shnjlateintelalst
DPOD.

‘A’ contracts with ‘B’ to kill ‘C’ for a sum of rupees one lakh.
‘B kills ‘C’. "A’ refuses to pay. Can ‘B’ recover the amount ?
Decide.

- ssgi 3G TNBET  woTD QJGM CRTWOC BREIR)TON
B0 WS #¥e3d oalela m&ﬁmﬁamé ‘W T ded
RRTWZOE. ‘@' 59@ BRTWED E’Dcroﬁahoaaé RANY amm
TRRO TRBWIVTE ? VEIF00D.

OR/eg=

Anand is a spiritual advisor. Bhaskar, an old Hindu man, is
adisciple of Anand. Anand advises Bhaskar to gift away the
whole of his property to him with a view to secure benefits
to his soul in the next world. Bhaskar makes gift of whole
of his property to Anand. Later Bhaskar wants to cancel
this gift. Can he do so ? Advise Bhaskar.

IO Slapkely mdamﬁm5 PORT D02 LOTR 5:333
Shfelan] &3, TONTOTR. zoz;sam d:ee? 38 wdei:aeﬁcﬁ@
*?c'o‘ Andesnd 233@ SAHODY, IR ms a‘mréo QOT
e;sﬁociab ADYS! daﬁ mwﬁeéw@ma" BT &,500 2pa~dm 35
DY B ("‘aa)o:bab BIOTIN 0T WVRETS. 3:33036
LOROT & DSEZY dcﬁ% TRBEO WODRTS. B T
DRBUIBITC 2 apah;dar? h‘@éaﬁa@t QedO.
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Q. No. 3. (a)Explain in brief the various modes of discharge of

(b)

contracts.
Soo0one SRRFS (VEMB)0H HAG QGSRYR), FodFon
WDAD.

OR/e3=»

Explain the law relating to time and place of performance
of contract.

30003 S03e0BeH FR0D WOB :o‘@eééﬂ FoWORAT TIVHDIY
SHTORO.

Rama promised to marry Seeta after the death of his father.
But he married Suma when his father was alive. Seeta
wants to sue Rama for breach of contract. Advise Seeta.
epAPIY 3;0; 030 AFIT J03T AeToFI) FT303TNIRTON
OROR RS FREITS. BTT LR I, 3T TFBoaNSe
AOBPEI), SOTBBRNITE.  BTOT Q) OFEMON 26T
DoaoR ébcbzg__g  d BB WODRIT. 20TV ROD
eRD.

OR/egw

Umesh has agreed to sell his house 1o Ganesh for rupees
10 lakhs. But that house was destroyed by an accidental fire
before Umesh could sell it to Ganesh. Ganesh institutes
a suit against Umesh for breach of contract. Decide.
VeI B, TOFODB, neesn ®3 ©F BN
R0 TWIRBED u@)ﬁm%@_ﬁ. B3 eVEdeST) & FWOFO
REEeER RN0O wRRR RRTSe  8TYT ©NowOT S
3030 TITTOWDD. BTROR BVQOFEMON NEBESI T
&)d:cga 3030303 TRBIZOS. VEIFCLAD.

Q. No. 4. (a) What are the remedies available for a breach of contract ?

Explain.
30008 VL OFPRMON B03R TOTIONTIRR) 7 WRORD.

OR/eg=»
Explain general and special damages with the help of
decided cases. '
Deor CWROL, BITONY IGOHOOT HIT DRy HBee
TOTOTFINTRY, DTORD.
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(b) ‘A’ leaves an article at ‘B’s house by mistake. Can ‘A’
recover the article from ‘B’ ? Decide. Marks : 6
weD Lo wﬁoac‘\b RANNEN P eVl Mivelo b wwuocﬁm
‘9’3 W'ROT e mmm wcé’cjoiraeéuaacﬁe ? E’Osaro&an:@

OR/ems

‘A’ contracts to supply goods on a specified day to ‘B

A does not supply on that day, as a consequence of it ‘B’

has to close the factory. Advise remedies available to ‘B’. Marks : 6
2000 ADFH, DITOTH NOBSY, @G RORTN ‘@R ‘W'

2eg03E) 603(13 maﬂmwmﬁ 6:9336 &3 ORBOTL ‘@’ D OBy

Cujgle] ﬁo@&)@ QATOOT ‘W a‘b @@Fﬁ&:b;b mmﬁemméd

“93 @ﬁ DR0UB® HOTOONG 320D Noécﬁam ae@a

Q. No. 5. (a) What is meant by specific performance ? Who can claim it ?

~ Marks: 10
OFH, J0WedF D0TTed 2 QT 0INTO FEFWBITD ?
OR/eg=
Explain perpetual and temporary injunctions. Marks : 10

BB T FToZOT JWFOTFTRENTT), D[OD.
3 -5 [} =5 ol

(b) Rama is the owner of a building. Shama diposesses Rama
from this building by force. Advise Rama. Marks : 6
Do ﬁ&acﬁ@odcﬁ m%mﬁmﬁ e 6&365&)06 aamab
cmmsm WO, 03ReNA0T ﬁmda&mé epIASII] fa@a‘
QEGBO.

OR/ems

B, being a medical advisor, threatens to publish patient C's

written communications that are with him showing that C

has led an immoral life. What course of action would you

advise to C ? Explain. Marks : 6
W Q0w F @508  FOTMOORD 33 CeeNSnRE ‘'S

3,88 =, aSmche‘D BRBNEROBTOR ws &, WHONTDY,
waodoﬁﬁm@ﬁo@mﬂ ‘TN I50F @ﬁaa'aé Qe oim

HOTORIY, ‘BN ReesRD 7 DTOO.




